HIIBTE B B e s OB AR AR ORI
[(HEX] (ZitE%: BRSHKEGEFY) T - THTFI— )

(BRTCEEIR) DR

T B e = O R (A

i B e = 44 Mg A NPOSE I Fl| [ 4 AR - AR AL R B FHEHE .
W%@T PTA ;%%
ABR) BilN~ [ {4 Eill-e [ {4 Eille-e A4
B S B i = 21 2 0 0 0 23
DS RS o0 | s | o [BREFPLEEISER ) emiea mks | o 2
RS EH O k= 22 2 0 0 0 24
VS B M B e 10 2 0 0 0 12
AT B e = 20 2 1 BER 0 0 23
e IS B i = 23 2 0 0 0 25
FCHA IS B = 26 3 0 0 0 29
U ) || s B e = 19 2 1 V&) AR SR A 2 0 0 22
KRREL D ik 24 2 0 0 0 26
£ (ﬁfg) 20.67 | 2.22 0.33 0.11 0.00 23.33
. Hd A 9 9 3 1 0
- (iﬁ%) 20.67 | 2.22 0.33 0.11 0.00 23.33
H HIE 9 9 3 1 0




